Paper -: CE 503
Full Marks : 100

Time : Three hours

The figures in the margin indicate
Sfull marks for the questions.

Answer any five questions.
1 6+4+10=20

(a) What is the difference between static
and kinematic indeterminacy ?

(b) Calculate the degree of static
indeterminacy for the following :

1)

Fig. 1
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(c) Define the following :

(i)

(1)
(iii)
(iv)

2. Find the moments at the supports for the
continuous beam shown in Fig. 3 and draw

Fig. 2
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3. Analyze the continuous beam shown in
Fig. 4, if supports B and C sink by 3mm and
Smm respectively. For the beam take
1=4x10"mm* and E=200kN/m?. Also
draw the B.M. diagram for the beam

20
N
40kN, a4 n
_ ~ ik b m mﬁz\ .
A7 Ap NC 25

TI M.WS \_—\ 2m \_—\ @ m \__\

A Analyze the frame shown in Fig.5 by
| -~ moment distribution method and draw the
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5. Determine the support moments usmg
Kani’s method for the continuous beam
shown in Fig. 6 and draw the B.M. diagram.
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6. Analyze the fixed beam shown in Fig. 7 using
column analogy method. And also draw the
B.M. diagram. 20
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7. A masonry dam of trapezoidal section has a
vertical water face and a height of 32m.
Determine the width at the top and bottom,
if the normal pressure on the base varies
from zero pressure at one side to 885kN/m?2
on the other side. The depth of water
1mpound i3 meters Take .Welght of




